
 

  
𝒈(𝒙)إذا كانت  /1 = 𝟐𝒙 − 𝟐 , 𝒇(𝒙) = 𝒙 + 𝒇)فإن:  𝟑 + 𝒈)(𝒙) = − − − 

A) 𝟑𝒙 − 𝟏 B) 𝟑𝒙 + 𝟓 C) 𝟐𝒙𝟐 − 𝟔 D) 𝟑𝒙 + 𝟏 

𝒈(𝒙)إذا كانت  /2 = 𝟑𝒙 , 𝒇(𝒙) = 𝒙 + 𝒇)فإن:  𝟐 + 𝒈)(𝒙) = − − − 

A) 𝒙 + 𝟓 B) 𝟒𝒙 + 𝟐 C) 𝟒𝒙 D) 𝟔𝒙 

𝒈(𝒙)إذا كانت  /3 = 𝟐𝒙 , 𝒇(𝒙) = 𝒙 + 𝒇)فإن:  𝟓 + 𝒈)(𝒙) = − − − 

A) 𝟑𝒙 + 𝟓 B) 𝒙 + 𝟓 C) 𝟐𝒙 + 𝟏𝟎 D) 𝟐𝒙𝟐 + 𝟓 

𝒈(𝒙)إذا كانت  /4 = 𝟑𝒙 − 𝟐 , 𝒇(𝒙) = 𝒙𝟐 + 𝟓𝒙 − 𝒇)فإن:  𝟐 + 𝒈)(𝒙) = − − − 

A) 𝒙𝟐 + 𝟖𝒙 − 𝟒 B) 𝒙𝟐 − 𝟖𝒙 − 𝟒 C) 𝒙𝟐 + 𝟒𝒙 − 𝟒 D) 𝒙𝟐 + 𝟖𝒙 

𝒈(𝒙)إذا كانت  /5 = 𝟑𝒙𝟐 + 𝟏 + 𝒙 , 𝒇(𝒙) = 𝟐𝒙 + 𝒇)فإن:  𝟏 + 𝒈)(𝟐) = − − − 

A) 𝟏𝟎 B) 𝟏𝟓 C) 𝟐𝟎 D) 𝟐𝟓 

𝒈(𝒙)إذا كانت  /6 = 𝒙𝟐 − 𝟏 , 𝒇(𝒙) = 𝒙 + 𝒇)فإن:  𝟐 − 𝒈)(𝒙) = − − − 

A) 𝒙𝟐 − 𝒙 − 𝟑 B) −𝒙 + 𝟑 C) −𝒙𝟐 + 𝒙 + 𝟑 D) 𝒙𝟐 + 𝒙 + 𝟏 

𝒈(𝒙)إذا كانت  /7 = 𝟑𝒙 − 𝟏 , 𝒇(𝒙) = 𝒙 + 𝒇)فإن:  𝟐 − 𝒈)(𝒙) = − − − 

A) −𝟐𝒙𝟐 + 𝟑 B) 𝟐𝒙 + 𝟏 C) −𝟐𝒙 + 𝟑 D) −𝟐𝒙 + 𝟏 

𝒈(𝒙)إذا كانت  /8 = 𝒙𝟐 − 𝟑 , 𝒇(𝒙) = 𝒙𝟐 − 𝟑𝒙 + 𝒇)فإن:  𝟏 − 𝒈)(𝒙) = − − − 

A) −𝟑𝒙 − 𝟒 B) −𝟑𝒙 + 𝟒 C) −𝟑𝒙 + 𝟐 D) −𝟑𝒙 − 𝟐 

𝒈(𝒙)إذا كانت  /9 = 𝒙 + 𝟏 , 𝒇(𝒙) = 𝒙 + .𝒇)فإن:  𝟑 𝒈)(𝒙) = − − − 

A) 𝒙𝟐 + 𝟒 B) 𝒙𝟐 + 𝟑 C) 𝒙𝟐 + 𝟑𝒙 + 𝟐 D) 𝒙𝟐 + 𝟒𝒙 + 𝟑 

𝒈(𝒙)إذا كانت  /10 = 𝟑𝒙 − 𝟏 ,  𝒇(𝒙) = 𝒙 + .𝒇)فإن:  𝟐 𝒈)(𝒙) = − − − 

A) 𝟑𝒙𝟐 + 𝟓𝒙 − 𝟐 B) 𝒙𝟐 − 𝟒𝒙 + 𝟏 C) 𝟑𝒙𝟐 − 𝒙 − 𝟐 D) 𝟑𝒙𝟐 − 𝟐 

𝒉(𝒙)إذا كانت  /11 = 𝟐𝒙 − 𝟓 ,  𝒈(𝒙) = 𝒙𝟐 − .𝒇)فإن:  𝟑 𝒈)(𝒙) = − − − 

A) 𝟐𝒙𝟑 − 𝟓𝒙𝟐 − 𝟔𝒙 − 𝟏𝟓 B) 𝟐𝒙𝟑−𝟓𝒙𝟐 + 𝟔𝒙 − 𝟏𝟓 C) 𝟐𝒙𝟑−𝟓𝒙𝟐 − 𝟔𝒙 + 𝟏𝟓 D) 𝟐𝒙𝟑+𝟓𝒙𝟐 − 𝟔𝒙 − 𝟏𝟓 

𝒈(𝒙)إذا كانت  /12 = −𝒙 + 𝟖 ,  𝒇(𝒙) = 𝒙𝟐 − .𝒇)فإن:  𝟓 𝒈)(𝒙) = − − − 

A) −𝒙𝟑 + 𝟖𝒙𝟐 − 𝟓𝒙 − 𝟒𝟎 B) −𝒙𝟑−𝟖𝒙𝟐 + 𝟓𝒙 − 𝟒𝟎 C) 𝒙𝟑+𝟖𝒙𝟐 + 𝟓𝒙 − 𝟒𝟎 D) −𝒙𝟑+𝟖𝒙𝟐 + 𝟓𝒙 − 𝟒𝟎 

𝒈(𝒙)إذا كانت  /13 = 𝒙 − 𝟏 ,  𝒇(𝒙) = 𝒙𝟐 + )فإن:  𝟐
𝒇

𝒈
) (𝒙) = − − − 

A) 
𝒙𝟐+𝟐

𝒙−𝟏
 , 𝒙 ≠ 𝟏 B) 

𝒙−𝟏

𝒙𝟐+𝟐
 , 𝒙 ≠ ±√𝟐𝒊 C) 𝒙 + 𝟏 D) 𝒙 + 𝟐 

𝒈(𝒙)إذا كانت  /14 = 𝒙 + 𝟐 ,  𝒇(𝒙) = 𝒙𝟐 − )فإن:  𝟒
𝒇

𝒈
) (𝒙) = − − − 

A) 𝒙 − 𝟐 , 𝒙 ≠ 𝟐 B) 𝒙 + 𝟐, 𝒙 ≠ 𝟐 C) 𝒙𝟐 − 𝟐, 𝒙 ≠ 𝟐 D) 𝒙𝟐 + 𝟐, 𝒙 ≠ 𝟐 

 



 

 

 

𝒈(𝒙)إذا كانت  /15 = 𝒙𝟐 + 𝟕𝒙 + 𝟔 ,  𝒇(𝒙) = 𝟒𝒙 − )فإن:  𝟑
𝒇

𝒈
) (𝒙) = − − − 

A) 
𝟒𝒙−𝟑

𝒙𝟐+𝟕𝒙+𝟔
 , 𝒙 ≠

𝟑

𝟒
 B) 

𝒙𝟐+𝟕𝒙+𝟔

𝟒𝒙−𝟑
, 𝒙 ≠

𝟑

𝟒
 C) 

𝒙𝟐+𝟕𝒙−𝟔

𝟒𝒙−𝟑
 , 𝒙 ≠

𝟑

𝟒
 D) 

𝟒𝒙−𝟑

𝒙𝟐+𝟕𝒙−𝟔
 , 𝒙 ≠

𝟑

𝟒
 

𝒈(𝒙)إذا كانت  /16 = {(𝟐, 𝟑), (𝟓, 𝟐), (𝟏, 𝟓)} ,  𝒇(𝒙) = {(𝟏, 𝟔), (𝟔, 𝟑), (𝟒,  فإن:  {(𝟏

(𝒇 ∘ 𝒈)(𝒙) = − − − 

A) {(𝟏, 𝟔), (𝟐, 𝟕), (𝟑, 𝟗)} B) {(𝟔, 𝟏), (𝟕, 𝟐), (𝟗, 𝟑)} C) {(𝟐, 𝟗), (𝟒, 𝟓), (𝟐, 𝟗)} D) )غير ممكن )غير معرّف 

𝒈(𝒙)إذا كانت  /17 = {(𝟏𝟎, 𝟏𝟑), (𝟓, 𝟖)} ,  𝒇(𝒙) = {(𝟐, 𝟓), (𝟔,  فإن:  {(𝟏𝟎

(𝒈 ∘ 𝒇)(𝒙) = − − − 

A) {(𝟓, 𝟖), (𝟏𝟎, 𝟏𝟑)} B) {(𝟐, 𝟖), (𝟏𝟎, 𝟏𝟑)} C) {(𝟐, 𝟖), (𝟔, 𝟏𝟑)} D) {(𝟓, 𝟖), (𝟔, 𝟏𝟎)} 

𝒈(𝒙)إذا كانت  /18 = {(𝟐, 𝟑), (𝟓, 𝟐), (𝟏, 𝟓)} ,  𝒇(𝒙) = {(𝟑, 𝟔), (𝟐, 𝟑), (𝟓,  فإن:  {(𝟏

(𝒇 ∘ 𝒈)(𝒙) = − − − 

A) {(𝟔, 𝟐), (𝟑, 𝟓), (𝟓, 𝟓)} B) {(𝟐, 𝟔), (𝟓, 𝟑), (𝟓, 𝟓)} C) {(𝟓, 𝟓)} D)  معرّف(غير ممكن )غير  

𝒈(𝒙)إذا كانت  /91 = −𝟑𝒙 ,  𝒇(𝒙) = 𝟓𝒙 − 𝒈)فإن:  𝟔 ∘ 𝒇)(𝒙) = − − − 

A) −𝟏𝟓𝒙 − 𝟔 B) −𝟏𝟓𝒙 + 𝟏𝟖 C) −𝟏𝟓𝒙𝟐 + 𝟏𝟖𝒙 D) −𝟏𝟓𝒙𝟐 − 𝟔 

𝒈(𝒙)إذا كانت  /20 = 𝒙𝟐 + 𝟏 ,  𝒇(𝒙) = 𝒙 − 𝒇)فإن:  𝟐 ∘ 𝒈)(𝒙) = − − − 

A) 𝒙𝟐 − 𝟒𝒙 + 𝟓 B) 𝒙𝟑 − 𝟐𝒙𝟐 + 𝒙 − 𝟐 C) 𝒙𝟐 − 𝟏 D) 𝒙𝟐 − 𝟑 

𝒈(𝒙)إذا كانت  /12 = 𝟒𝒙 ,  𝒇(𝒙) = 𝟐𝒙 − 𝒈)فإن:  𝟓 ∘ 𝒇)(𝒙) = − − − 

A) 𝟖𝒙 + 𝟐𝟎 B) 𝟖𝒙 − 𝟐𝟎 C) 𝟖𝒙 + 𝟓 D) 𝟖𝒙 − 𝟓 

𝒉(𝒙)إذا كانت  /22 = 𝟐𝒙 ,  𝒈(𝒙) = 𝟓𝒙𝟐 − 𝒉)فإن:  𝟒 ∘ 𝒈)(𝟑) = − − − 

A) 𝟒𝟏 B) 𝟒𝟐 C) 𝟖𝟒 D) 𝟖𝟐 

𝒈(𝒙)إذا كانت  /32 = 𝒙𝟐 + 𝟓 ,  𝒇(𝒙) = 𝟐𝒙 + 𝒇)فإن:  𝟒 ∘ 𝒈)(𝟔) = − − − 

A) 𝟑𝟖 B) 𝟒𝟑 C) 𝟖𝟔 D) 𝟐𝟔𝟏 

𝒈(𝒙)إذا كانت  /24 = 𝒙𝟐 + 𝟏 ,  𝒇(𝒙) = 𝒙 + 𝒇)فإن:  𝟐 ∘ 𝒈)(𝟏) = − − − 

A) 𝟏𝟓 B) 𝟏𝟎 C) 𝟒 D) 𝟑 

25/  𝒇 ∘ 𝒈 = 𝒈 ∘ 𝒇 

A)  B)  

 


